-1.0

i

0.99 N'RY : 0.08 0.04 0.00 0.04 O. 0.08 0.03 : : 0.06 0.00 SelfCheckGPT, AVG

—————

0.99 0.87 ek : : : 0.27 0.15 0.06 0.28 ; : 0.32 0.08 0.33 O. : , 0.24 0.20 0.21 0.12 O. : SelfCheckGPT, MAX

0.51 0.52 : : : : . 0.52 0.49 0.48 0.42 : : 0.49 0.49 0.50 O. : 0.56 0.50 0.50 0.52 0. : HaluEval Summarization, EM

0.08 0.00 0.47 O. : : : . 0.49 0.48 0.42 : 0.45 0.44 0.47 O. : : 0.52 0.47 0.47 0.47 O. : HaluEval Summarization, Accuracy

0.50 guiele 0.60 : 0.64 0.65 0.61 : . 0.40 0.39 0.46 O. : : 0.50 0.50 0.50 0.47 O. : HaluEval Dialog, EM

0.07 0.00 0.60 : 0.64 0.65 0.61 . . 0.40 0.39 0.46 O. : : 0.50 0.50 0.50 0.47 O. : HaluEval Dialog, Accuracy

0.49 0.53 0.69 0.32 0. : . . : 0.53 0.57 0.45 0. : : 0.35 0.30 0.59 O. : : 0.51 0.50 0.51 0.44 O. : HaluEval QA, EM

=
IN
a1

0.07 0.05 1069 0.32

(@)
N
o
(@)
N
N
o
(@)}
N
(@)
(@)}
(@)
o
Ul
N
o
§)
~
(@)
N
§)
o
Ul
8y
o
§)
N
o
N
(@)}
o
(00
Ul
©
w
o
o
(§)
(o)
o
N
(@)}
(@)
N
~
o
N
(@)}
o
Ul
=
o
Ul
o
o
(§)
=
(@)
N
I
o
N
I
o
N
~

HaluEval QA, Accuracy
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